Stoichiometry Class Problems #1

1. According to the equation below, adding copper (Cu) to silver nitrate (AgNO3)
allows a chemical reaction to occur that produces silver (Ag) and copper nitrate

(Cu(NO3).).
Cu + 2AgNOs= Cu(NOs), + 2 Ag

a- Gram to gram question (steps 1-4)
You need 2.0 g of silver (Ag) for an experiment. What mass of the silver nitrate
will you require to obtain the 2.0 g of silver that you heed?
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b- Gram to moles question (steps 1-3)
You need 2.0 g of silver (Ag) for an experiment. How many moles of the Cu will you

require to obtain the 2.0 g of silver that you need?
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¢- Moles to gram question (steps 1, 3 and 4)
You have 1.5 moles of Cu(NOj3)z, what mass of AgNOs was needed for the reaction

to occur?
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d- Moles to moles question (steps 1 and 3)
You have 3.0 moles of Cu(NO3)z, how many moles of AgNOs was needed for the

reaction to occur?
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2. To neutralize hydrochloric acid (HCI), magnesium hydroxide (Mg(OH)), a base is
added. The neutralization reaction is represented by the following equation:
2HCl + Mg(OH), > MgCl; + 2H:0

A- You have 4.0 moles of HCI, what mass of Mg(OH): is required to neu‘rr'allze
the 4.0 moles of HCI?
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B- You have 4.0 moles of HCI, how many moles of H,O is required to neutralize
the 4 moles of HCI?

3. The following equation describes how iron oxide, Fe»O3, is produced.

q Fe + L)Oz - 02 Fe-03

How much Fe;Q3 is formed by the complete oxidation of 448 g of iron?
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4. A- Using the formula below, how many moles of ammonia (NHs) are needed to
obtain 7.00 g of copper (Cu)?

3Cuo +/NHs > N2 %Cu +3Hzo
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B- If you needed 5.0 g of H.O, how many grams of NH3 were needed?
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